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













    



 






















 











    












    













    















    



 
























 











    












    













    















    



 






















 











    












    













    















    



 
























 











    












    













    















    



 






















 











    












    













    















    



 
























 











    












    













    















    



 






















 











    












    













    















    



 




















x − y φ − E

cm KeV



∼
300MeV

750gauss/cm

−885
853 −843gauss/cm 1.588m

  




  




  
  

  

  

  

  

 

 



 
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